3/8 x3 SLEEVE ANCHOR BOLTS ON 20 CENTERS (2,000
WASHERS INCLUDED WITH SLEEVE ANCHORS.
OR

1/4"x3" TAPCON SCREWS ON 17" CENTERS (2,000 PSI M
CENTERS (C—90 BLOCK), 1

ON MIN
PSI MIN. CONCREI'E)

LISTED ON THE DRAWING.

IN. CONCRETE) OR 9”

" 0.D. WASHERS REQUIRED WITH TAPCONS.

ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH
MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOA

: REFER TO DASMA TDS-161.

A LICENSED DESIGN

OTHER JAMB_CONFIGURATIONS:
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS

IN ACCORDANCE WITH CURRENT
BUILDING CODES FOR THE LOADS

(CLASSIC' RAISED PANEL EMBOSS DOORS DOOR HEIGHT | b TF o |# OF u-Bars| | poor wiotw |# CE INTERM. REV DATE DESCRIPTION
MODELS 24 GA_ |24 GA INS| 29 GA |29 GA INS UP 10 70" 2 3 9'2* 10 9'107 1 07 |09/26/05 ADDED ROLLER OPTION
CLOPAY B84A, 94 - 73, 75 | 1500, 190 757 10 8797 5 8 100 70 1110°7 3
IDEAL  [4RST, 4F%| 4RSF | 6RST | 6RSF 50" 70 10°6° 6 5 120’ 10 13'10° 3 fLx6/8 SHEET 08 | 06/15/06 UPDATED STRUT ATTACHMENT
HOLMES 48, 48B —— 42, 42B| S5, S5S 10’9’ 70 12’3’ 7 11 14’0 TO 1510° 4
SHORT PANEL 12°6" 10 14'0° 8 12 160° 5 09 |11/30/07 ADDED EXTENDED HEIGHTS, COMBINED CLOPAY, HOLMES, AND IDEAL M/N
X - MODEL 4F IS FLUSH e 2 i 1/473/4" SELF 10 | 08/08/08 ADDED M/N 42B, 48B, 555
TAPPING SCREWS
MAX_SECTION HEIGHT: 21° 09 11 | 10/21/08 ADDED M/N 4F
‘CARRIAGE HOUSE’ RAISED PANEL ; ;
MBDSS. DOLRS 12_[8/2009 ADDED CARRIAGE HOUSE’ EMBOSS DOORS.
14 GA. END HINGES
o 13 | 8/2010 UPDATED MODEL TABLE.
MODELS 25 GA |25 GA INS VIEW "B /
CLOPAY GDSS, | GDSSV, SECTION A—A (SIDE VIEW)
‘GALLERY’ GRSS | GRSV
HOLMES OPTIONAL SSB OR BETTER GLAZING. INTERMEDIATE STILES (SEE TABLE FOR Qmy). 20 GA. MIN. END STILES ATTACHED TO DOOR
ARTISTRY' ARSS | ARSSV MAX. SIZE IS 19-1/2°x16". (SEE ATTACHED W/ TOG-L-L0C " THICK
SECTION B-B / 12 SKIN WITH PATENTED TOG-L—LOC SYSTEM T
). AND URETHANE ADHESIVE (ALONG CENTER)
IDEAL (TOP, BOTTOM & CENTER).
, , | ebss | Epssv FRONT FRAME WITH U,
CARRIAGE HOUSE’ | =™ | =™™>" | mee—— A COATING ON OUTSIDE SURFACE
SHORT PANEL
i T 7 T Tt T — Y suzucx OPTIONAL 10 SCREW
MOLDED INSIDE HINDOW LIE THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
\ITE RETAINER SECTION B-B 12 GA. GALV. STEEL TOP WIND LOAD REQUREVENTS OF THE FLORDA BULDING CODE
T #8x3/4" PAN HEAD SCREW ROLLER BRACKET. EACH OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET
’ BRACKET ATTACHED W/(4 IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
p y p 4 p y 4 Vi P T 2 Q 2 3 N\ N\ = #14x5/8" SHEET A REGIONS (REF. CHAPTER 18 FBC/IBC)
V, Vi 7 Vj V, Vi 7 I N3 \ \ \ \ N N\ SHIP LAP JOINTS L REWS THIS DOOR MEETS OR EXCEEDS THE DESIGN
VIEW "B - - LOADS FOR THE WIND SPEEDS LISTED BELOW
| | N Accormmc TO THE FLORIDA BLDG. CODE
' 3 5 OR IBC £7) FOR THE FOLLOWING
[ ) 1# DENSITY POLYSTYRENE FOAM INSULATION 14 GA. GALV. ROLLER HINGE. EACH HINGE CONDI110 S 1) ENCLOSED BUILDING, 2) DOOR
Vi 1-5/16" THICK WITH VINYL HAIRCELL FASTENED TO END STILES WITH (4) HAS 1 OF WIDTH IN BUILDING'S END ZONE,
° : = BACKER (INSULATED MODELS ONLY) #14x5/8" SHEET METAL SCREWS AND (4) B}, MPORTANCE [AGTOR OF a8y ANY
4c ‘ A1 1N L{Etvx:’/‘* SELF TAPPING SCREWS. SEE WIND SPEED (MPH)| <100 11o 110] 120
© | EXPOSURE LEVEL |BorC| B| C| B
i 25 GA. MIN. GALV. STEEL SKIN I : - -
I c — VIEW "¢” WITH A BAKED—ON PRIMER, MEAN ROOF HEIGHT| 30' 30" | 15°] 30
= AND A BAKED—ON POLYESTER
& TOP COAT APPLIED TO BOTH .
% [ N SIDES OF STEEL SKIN. 3" TALL x 20 GA. GALV. STEEL U—BARS IN 5 TALL U—BAR
- 1} i 1} . {1 A 2—1-2—1 PATTERN (L.E. TWO U—BARS 20 GA. GALV. STEEL
g ] SECTION, ETC ). EAGH U—BAR ATTAGHED. MIN. YELD STRENGTH: 50 Ksi
LOCK POSITION , ETC.). n
° |~ (BoTH SIDES) o SUDE BOLT WITH (2) 1/4"x3/4" SELF TAPPING SCREWS ~ = I_
3 X X TWO POINT LOCKING STLE LocK ENGaces PER STILE LOCATION. 1=
TRACK. ONE 1-7/8” =='
LOCK ON _|_
oF Boor
\ 13 GA. GALV. STEEL BOTTOM BRACKET.
INSIDE_ SLIDE_BOLT »
. fisine e ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS.
ALUMINUM EXTRUSION
\ " _ B0 & VINYL WEATHERSTRIP. LHR TOP BRACKET
. 3" x 20 GA. U—BARS.
U—BARS IN A 2—1-2—1 INTER. DOLBLE. HORIZONTAL
PATTERN (LE. TWO U—BARS o
ON BOTTOM SECTION, Lo
ONE U—BARS ON NEXT
\ SECTION, ETC.) e Al S
e OUTSIDE EACH SIDE DOUBLE TRACK
| T 1 T T 1 I HaNDLE OF DooR
| { | | | \ | | | NOTE: TRACK CONFIGURATION
; S X 1 SNAP LATCH ENGAGES ABOVE THE DOOR OPENING
\—LOCA110N OF \_ ONE SNAP LATCH ON OUTSIDE_KEYED LOCK DOES NOT AFFECT THE WIND
OPTIONAL VENTS ~ “=e=eesesseses — A OPTIONAL OUTSIDE KEYED LOCK POSITION INTER, STILE EACH SIDE OF DOOR.  LOCK BAR |OGKING LOAD RATING OF THIS DOOR.
MAX. DOOR WIDTH = 16'—0"
OUTSIDE, KEVED HORIZONTAL TRACK SUPPORT BY HOR'ZggB?;L ,Lgﬁﬁg#?ﬁgﬂu?%
*CLASSIC’ SHORT RAISED—PANEL SHOWN. 'CARRIAGE HOUSE’ INSIDE ELEVATIONS STOP MOULDING BY DOOR INSTALLER (TO SUIT) SE'NHEE DOORS OVER & TALL DOOR INSTALLER (TO SUIT) ,
SHORT RAISED—PANEL IS ALSO APPROVED. 20 GA. MIN. GALV. STEEL END STILE 8' TALL DOORS AND UNDER
2x6 YELLOW PINE JAMB INSIDE HANDLE . ) - ]
20 GA. GALV. STEEL INTER. STILE QUISIDE_KEYED L0CK 13 GA. GALV. STEEL FLAG BRACKET.
) SNAP LATCH LOCK OPTION EACH FASTENED TO WOOD JAMB WITH 13 GA. GALV. STEEL FLAG BRACKET.
12 GA. GALV. STEEL TRACK $ (3) 5/16"x1-5/8" LAG SCREWS. EACH FASTENED TO WOOD JAMB_ WITH
BRACKETS FASTENED 10 WOOD JAMB 2" GALV. STEEL TRAGK, (3) 5/16"x1-5/8" WOOD LAG SCREWS.
WITH ONE 5/16"x1—5/8" LAG SCREW | 18 GA. GALV. HINGE. EACH TRACK THICKNESS: .060” MIN. -
PER TRACK BRACKET. \ HINGE FASTENED TO STILES = 307 £
7/16" 1.D. ROUND PUSHNUT WITH (4) #14x5/8" SHEET [ MAX TYP. 2—1/2"%12 GA. GALV. STEEL TRACK BRACKET. &
AT G e roe) Wik o : ) Tk el e e (10 10 e 8
2" GALV. STEEL TRACK FASTENED TO 14 GA. GALV. ROLLER HINGE. EACH HINGE 3 1" DISTANCE BETWEEN FLAG AND TOP TRACK BRACKET & i | L
12 GAC GALV. STEEL TRAEilé BRACIéErS. ;ASTENED TO END STILES WITH (4) 8 H NOT TO EXCEED 30" O.C. g oL
TRACK ATTACHED TQ EACH BRACKET 14x5/8™ SHEET METAL SCREWS AND (4) TOOR 2" GALV. STEEL TRACK " 76"
WITH ONE 1/4°x5/8" BOLTS & NUTS 1/4%3/4” SELF TAPPING SCREWS. " 5 HEIGHT| " " A . 060" =218,
ok ™G 1/4" DIA. RNETS, /4°%3/ - TYP) Ll o " MIN. TRACK THICKNESS: .060 T=¢ Tez]
S 0" 100° [} sl
2" 10 BALL SHORT STEM STEEL ROLLER WITH i 4 e | e o
STEEL OR NYLON TIRE o L e [ 1187 o TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
2 24° i T 124 |NOIE: FOR DOORS OVER F4 (4) TRACK BRACKETS PER SIDE.
SECTION C-—C Z CTYP)) e [ 1307 |12'—0" HIGH, TRACK &g B
a [120" [ 1967 |CONFIGURATION SHALL NOT &
PREPARATION OF JAMBS BY QTHERS. ORIGINAL DRAWINGS ARE SIGNED IN BLUE n H 126 142 |EXCEED MAXIMUM SPACING O
INK WITH A RAISED SEAL (EMBOSS). H 3-1/2¢ [130" 146" |PROVIDED. CONSULT FACTORY H
10* [13'%€" 11547 1FOR MORE DETAIL IF RQD.
VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS): 8o
3/8"x3" LAG SCREWS ON 24" CENTERS. 1—1/8" 0.D. WASHER REQUIRED. LAG gﬁHPIF:O;_FrIIiGDESTSIgU c?uFR;EEELEMENTs NOTE: DOUBLE TRACK LOW
SCREWS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH HEADROOM._AVAILABLE .
SHALL BE THE RESPONSIBILITY OF E
MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. AL B RN O or 3" TRACK AVAILABLE AS
THE BUILDING OR STRUCTURE AND NEEDED.

DESIGN LOADS: +24.0 PSF & —24.5 PSF
TEST LOADS: +36.0 PSF & —37.0 PSF

DESIGN ENGINEER: MARK WESTERFIELD, P.E.

ua Clopay

8585 DUKE BLVD.

MANUFACTURING PRODUCT CODE!

MPC: PAN—

WINDLOAD RATING

2F1583

DATE:

1/3/97

MAX. DOOR SIZE:
16’0"W x 16’0"H

DESCRIPTION:

CLASSIC AND CH RP STEEL PAN

AND/OR JAME CONFIGURATIONS. FLORIDA P.E. #48495, EU”ding Products ?fﬁs;?)Nb%H :_85861_0 DRAWN BY: JAC DRAWINBC;LJEIEE—CAR, 16'W +24/-245 F’SVI::R
NC P.E. #23832, om pq ny - CRECKED BV ! !
TEXAS PE. #91513 Clopay Corporation All Rights Reserved. Ww B 101711 IBC

FLORIDA PRODUCT APPROVAL 5675




